Formulas list

For a sphere of radius a, S = 47a? and V = 47wa?/3
Alx —z0) + By —v0) + C(z —2) =0

sin®(f) = £(1 — cos(26)), cos?(0) = 3(1 + cos(26))
Dzl'f(x>y>z> = Vf(a:,y,z) -u

dA = rdrdf

x = pcos(0)sin(g), y = psin(0) sin(¢), z = pcos(¢), dV = p?*sin(¢) dpde do ,
7y % T = a sin(9)(x7+ yJ+ 2k), || 7y x 75 || = a? sin()
dS = \/T+ g2+ g2 dD

dS = || 7, x 7, || dD

[fy F-dS=[[, F-@dS

[fy (PT+QF+Rk)-dS= [[, ~Pg.—Qg,+ RdD
[f, F-dS=[[, F- (¥, x,)dD

[, F-di = [[, curl(F)-dS

[[y F-dS = [[[,div(F)dV



